
AY

BA

13

9

11

12

5

3

1

13

6

4

8
7

7

2

13
13

10

DETAIL AY
SCALE 1 : 4

DETAIL BA
SCALE 1 : 4

7

4

13

No. Part Number Description Material Type Material Size Material Lenght QTY.

1 BMG1PLUS-001-003-000-B Lifting frame Mild steel 1

2 BMG1PLUS-001-002-000-B Frame Mild steel 1
3 BMG1PLUS-001-004-000-B Pipe Mild steel 1

4 BMG1PLUS-001-005-000-B Slider Left Mild steel 1

5 BMG1PLUS-001-006-000-B Warm shelf Mild steel 1

6 BMG1PLUS-001-008-000-B Frame Mild steel 1
7 BMG1PLUS-001-007-000-B Leg Mild steel 2

8 BMG1PLUS-001-013-000-B Slider Right Mild steel 1

9 BMG1PLUS-001-012-000-B Wheel Mild steel 1
10 BMG1PLUS-001-010-000-B Cooking surface Mild steel or Stainless steel 1

11 BMG1PLUS-001-001-001-B Bolt-HV M6 x 30 10.9HV n/a n/a n/a 1

12 BMG1PLUS-001-001-002-B Nut-HV M6 10HV n/a n/a n/a 1
13 BMG1PLUS-001-001-007-B Hexagon Socket Bolt n/a M8x15 M8x15 12

F

E

D

C

B

A

G

H

K

13121110981 2 4 5 63 7

73 65421 8 9 10 11 12 13

K

G

F

E

D

C

B

A

H

A3-
1:20

A

Scale:
Size:
REV:

DRWG by:

Project: BMG-1 PLUS
Date: 2020
Quantity: 1

Shett: 11
36.31 kg

Date:
Material: Mild steel
Description: n/a

BMG1PLUS-001-001-000-B assemblyDRWG no:

Mass:



2

1

3

1st STEP 

No. Part Number Description Material Type Material Lenght QTY. Total lenght

1 BMG1PLUS-001-002-000-B Frame Mild steel 1 0
2 BMG1PLUS-001-007-000-B Leg Mild steel 2 0

3 BMG1PLUS-001-001-007-B Hexagon Socket Bolt n/a M8x15 4 0

F

E

D

C

B

A

G

H

K

13121110981 2 4 5 63 7

73 65421 8 9 10 11 12 13

K

G

F

E

D

C

B

A

H

A3-
1:10

A

Scale:
Size:
REV:

DRWG by:

Project: BMG-1 PLUS
Date: 2020
Quantity: 1

Shett: 11
11.66 kg

Date:
Material: n/a
Description: 1st step

BMG1PLUS-001-014-000-BDRWG no:

Mass:



1

2
3

4

 410 

 212.5  161.5 

2nd STEP

No. Part Number Description Material Type QTY.

1 BMG1PLUS-001-005-000-B Slider Left Mild steel 1

2 BMG1PLUS-001-008-000-B Frame Mild steel 1
3 BMG1PLUS-001-013-000-B Slider Right Mild steel 1

4 BMG1PLUS-001-001-007-B Hexagon Socket Bolt n/a 4

F

E

D

C

B

A

G

H

K

13121110981 2 4 5 63 7

73 65421 8 9 10 11 12 13

K

G

F

E

D

C

B

A

H

A3-
1:10

A

Scale:
Size:
REV:

DRWG by:

Project: BMG-1 PLUS
Date: 2020
Quantity: 1

Shett: 11
5.16 kg

Date:
Material: n/a
Description: 2nd step
DRWG no:

Mass:

BMG1PLUS-001-016-000-B



2

1

3rd STEP

No. Part Number Description QTY.

1 BMG1PLUS-001-014-000-B 1st step 1

2 BMG1PLUS-001-016-000-B 2nd step 1

F

E

D

C

B

A

G

H

K

13121110981 2 4 5 63 7

73 65421 8 9 10 12 13

K

G

F

E

D

C

B

A

H

A3-
1:10

A

Scale:
Size:
REV:

DRWG by:

Project: BMG-1 PLUS
Date: 2020
Quantity: 1

Shett: 11
16.82 kg

Date:
Material: n/a
Description:
DRWG no:

Mass:

3rd step
BMG1PLUS-001-015-000-B



1

3

2

4th STEP

No. Part Number Description Material Type Material Lenght QTY.

1 BMG1PLUS-001-003-000-B Lifting frame Mild steel 1

2 BMG1PLUS-001-015-000-B 3rd step n/a 1

3 BMG1PLUS-001-001-007-B Hexagon Socket Bolt n/a M8x15 2

F

E

D

C

B

A

G

H

K

13121110981 2 4 5 63 7

73 65421 8 9 10 11 12 13

K

G

F

E

D

C

B

A

H

A3-
1:10

A

Scale:
Size:
REV:

DRWG by:

Project: BMG-1 PLUS
Date: 2020
Quantity: 1

Shett: 11
21.24 kg

Date:
Material: n/a
Description: 4th step

BMG1PLUS-001-017-000-BDRWG no:

Mass:



1

2

3

5th STEP

No. Part Number Description Material Type QTY.

1 BMG1PLUS-001-004-000-B Pipe Mild steel 1

2 BMG1PLUS-001-012-000-B Wheel Mild steel 1
3 BMG1PLUS-001-001-007-B Hexagon Socket Bolt n/a 2

F

E

D

C

B

A

G

H

K

13121110981 2 4 5 63 7

73 65421 8 9 10 11 12 13

K

G

F

E

D

C

B

A

H

A3-
1:10

A

Scale:
Size:
REV:

DRWG by:

Project: BMG-1 PLUS
Date: 2020
Quantity: 1

Shett: 11
2.64 kg

Date:
Material: n/a
Description: 5th step

BMG1PLUS-001-018-000-BDRWG no:

Mass:



2

1
3

3

6th STEP

No. Part Number Description QTY.

1 BMG1PLUS-001-017-000-B 4th step 1

2 BMG1PLUS-001-018-000-B 5th step 1

3 BMG1PLUS-001-001-001-B Bolt-HV M6 x 30 10.9HV 1

4 BMG1PLUS-001-001-002-B Nut-HV M6 10HV 1

F

E

D

C

B

A

G

H

K

13121110981 2 4 5 63 7

73 65421 8 9 10 11 12 13

K

G

F

E

D

C

B

A

H

A3-
1:10

A

Scale:
Size:
REV:

DRWG by:

Project: BMG-1 PLUS
Date: 2020
Quantity: 1

Shett: 11
23.90 kg

Date:
Material: n/a
Description: 6th step

BMG1PLUS-001-019-000-BDRWG no:

Mass:



3

1

27th STEP

No. Part Number Description QTY.

1 BMG1PLUS-001-006-000-B Warm shelf 1
2 BMG1PLUS-001-010-000-B Cooking surface 1

3 BMG1PLUS-001-019-000-B 6th step 1

F

E

D

C

B

A

G

H

K

13121110981 2 4 5 63 7

73 65421 8 9 10 11 12 13

K

G

F

E

D

C

B

A

H

A3-
1:10

A

Scale:
Size:
REV:

DRWG by:

Project: BMG-1 PLUS
Date: 2020
Quantity: 1

Shett: 11
36.30 kg

Date:
Material: n/a
Description: 7th step

BMG1PLUS-001-020-000-BDRWG no:

Mass:


